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1 	� Write down the coordinates of each 
corner of triangle A.	 (	 1	,� 9)

2 	�	  (	 1	,� 12)

3 	�	  (	 5	,� 9)

4 	� Write down the coordinates of the  
two corners of quadrilateral B that  
have the same x-value as each other.	 (	 7	,� 8)

5 	�	  (	 7	,� 12)

6 	� Write down the coordinates of the  
corner of triangle C that has the  
largest y-value.	 (	 0	,� 8)

7 	� Write down the coordinates of the  
corner of pentagon D that has  
the smallest x-value.	 (	 5	,� 6)

8 	� Write down the coordinates of the  
corner of triangle E whose x-value  
is twice the corresponding y-value.	 (	 4	,� 2)

9 	� Write down the coordinates of the  
mid-point of the shortest side of  
triangle E.	 (	 3	,� 3)

10 	� Write down the coordinates of the  
point where the diagonals of square  
F intersect each other.	 (	 8	,� 2)

11 	� Estimate the coordinates of the  
mid-point of the longest side of  
triangle A.	 (	 3	,� 10.5)

12 	� Estimate the coordinates of the  
mid-point of the longest side of  
quadrilateral B.	 (	 9.5	,� 10.5)

1 	 86p + 35p + 71p =	 £1.92

2 	 Find 1% of £5.� 5p

3 	 Change 317mm to centimetres.� 31.7cm

4 	 510mm + 815mm	 =		  1m� 325mm

			   =� 1.325m

5 	 90 days =	 12 weeks� 6 days

6 	� An aeroplane flies 3900km in 6 hours.  
What is the mean (average) speed?� 650km/h

7 	� Find the perimeter of a rectangular  
field measuring 35m by 22m.� 114m

8 	� What size is the interior angle in each  
corner of an equilateral triangle?� 60°

9 	� Which letters of the word  
WAIST have at least one  
axis of symmetry?	 W	 A	 I� T

10 	� Approximate £13.63 to the  
nearest £1.	 £14

1 	 154 + 67 =� 221

2 	 (2 × 45) + (1 × 45) =� 135

3 	� Write in digits the number one  
thousand one hundred and one.� 1101

4 	 33% is larger than  13 .

		  True or false?� false

5 	� Write as a decimal 5 +   5
100 .� 5.05

6 	 1.59 + 0.73 =� 2.32

7 	 1.5 × (1.5 + 2.5) =� 6

8 	� Approximate 7846 to the  
nearest thousand.� 8000

9 	 a  Calculate exactly, then	 a  2.16

		  b  approximate to 1 decimal place.	 b  2.2

		  8.64 ÷ 4

10 	 If a = 2, find the value of 3a.� 6

11 	 4m = 10	 so m =� 2.5

12 	 62 =� 36
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